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X é
x 7
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x 4
x <
x 5
x &
x S
x 7

MNTE BE
1 84| |11 65
2 108 | |12 546
3 588 | |13 476
4 70| |14 315
5 270 | |15 80
6 783 | |16 48
7 520 | |17 400
8 215 | |18 456
9 192 | |19 237
10 228 |20 414




HEVE BRE

248 214 383 105 197

281 214 250 275 358

BAERZAEAGS otk HERE

HEYER R

(HIBREFRE 1047] [1RF 10:]

No. 1 5

1 L7 &/ 78 3/ &/
2 30 50 43 42 L5
3 /7 74 &7 L0 30
4 7 4 47 ) —6& /4
5 76 5& 70 &0 47
No. 6 10

1 7oL 70 50 70 78
2 70 73 /é &7 &4
3 /3 /& 7/ 743 &é
4 L5 —4£/ L/ -/ 0 53
5 &/ 74 7L &8 &0




BAERZAIEANS otk HRERE
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X é
x 7
x 7
x 4
x <
x 5
x &
x S
x 7

MNTE BE
1 384 | |11 185
2 104 | |12 426
3 378 | |13 420
4 490 | |14 360
5 87| |15 236
6 162 | |16 186
7 680 | |17 410
8 370 | |18 384
9 180 | |19 45
10 123 | |20 234




HEVE BRE

207 226 350 222 312

231 156 263 201 281

BAERZAEAGS otk HERE

HEYER R

(HIBREFRE 1047] [1RF 10:]

No. 1 5

1 S S8 43 53 &7
2 </ 7L &7 &/ 75
3 70 50 54 L7 5/
4 5S4 L7 70 -/ 3 40
5 /0 73 76 74 57
No. 6 10

1 7/ 5& 77 7/ 78
2 %% <& L3 57 S
3 N &0 68 73 </
4 47 -76 &0 -37 &7
5 /Y &7 /3 /8 43




BAERZAIEANS otk HRERE

MR = (FIBREFRE 1040] [1RF 5:K] MTE RE

1 &7 x 4 = 11 L/ % 5 = 1 268 | |11 105
2 56 x S 12 &7 x 6 = 2 112 | |12 522
3 L5 % é = 13 76 x 7= 3 138 | |13 532
4 g x 7 = 14 32 x 9 = 4 315 | (14 288
5 20 x S = 15 20 x 4 = 5 270 | |15 360
6 34 x 7 = 16 65 x L = 6 306 | |16 130
7 /0 X & = 17 43 x 5 = 7 80| (17 215
8 78 X 5 = 18 75 X% & = 8 390 | |18 784
9 /2 % 6 = 19 54 x S = 9 72| |19 162
10 &7 % S = 20 /0 X ? = 10 267 | |20 90




HEVE BRE

178 201 218 34 250

356 231 319 246 230

BAERZAEAGS otk HERE

HEYER R

(HIBREFRE 1047] [1RF 10:]

No. 1 5

1 47 N 37 56 b
2 /8 76 60 /0 76
3 L7 &é 40 <3 35
4 53 74 5/ -&7 /&
5 3é 70 L& NEZ 57
No. 6 10

1 76 éL 76 &/ 79
2 &7 5/ /0 74 X3
3 &4 74 70 57 /3
4 70 =50 &7 -3& L4
5 /8 74 sS4 7L 46




BAERZAIEANS otk HRERE

MR = (FIBREFRE 1040] [1RF 5:K] MTE RE

1 46 % 4 = 11 43 X 5 = 1 184 | |11 215
2 797 X S 12 SL % & = 2 158 | |12 192
3 68 x 6 = 13 L/ % 7 = 3 408 | |13 147
4 57 x 7 = 14 70 X% 7 = 4 399 | |14 810
5 §0 x S = 15 sS4 x 4 = 5 240 | |15 216
6 /3 % 7 = 16 75 x L = 6 117 | |16 196
7 L0 x & = 17 5 X S5 = 7 160 | |17 325
8 7/ x 5 = 18 /0 X § = 8 455 | |18 80
9 S5 % é = 19 &7 X S = 9 210 |19 261
10 LY % S = 20 76 % 7 = 10 72| |20 684




HEVE BRE

1 5
292 158 281 147 295
6 10
269 207 315 153 342
BAERZAFAHE otk BEME
HEYE =
[HIBREFRE 1043] (1R 10:]
No. 1 5
1 77 /7 /0 &7 &é
2 LY 77 SL 5é 37
3 7/ 75 78 235 42
4 5L -452 &7 -57 53
5 44 L0 sS4 70 78
No. 6 10
1 &5 78 &/ 7E &7
2 30 &3 I 23 50
3 /0 ) 63 &7 7Y
4 7Y -54 77 -53 &/
5 70 50 57 38 50




BAERZAIEANS otk HRERE

MR = (FIBREFRE 1040] [1RF 5:K] nNIE BRE

1 &/ % 4 = 11 &5 x 5 = 1 244 | |11 425
2 50 x L = 12 KRV & = 2 100 | |12 312
3 /& X 6 = 13 76 % 7 = 3 9 | [13 672
4 50 x 7 o= 14 L7 X 7 = 4 350 | (14 261
5 74 % S = 15 4/ x 4 = 5 282 | |15 164
6 49 x 7 = 16 S0 X% L = 6 441 |16 60
7 7L X & = 17 70 X S5 = 7 576 | (17 350
8 &3 x 5 = 18 /& % s = 8 415 |18 144
9 S8 X% é = 19 3 X% S = 9 228 | |19 189
10 L7 % S = 20 74 x 7 = 10 81| |20 666




